DEFENSE 1 2 3 4 6 7 8 9 | OFFENSE

1@33 sF sl x éﬁ & /8

* B)B. 38|38 x 316335 X/

* M |555°] 55|59 X|55155

Y Sum  lerlx ler|CF C| X |RE

P Maney |28 |28 28| X |28 228

* Gl | ¢ |ne| ne| BB LACEH

"Twm | PPIR 4 ,‘/0 4
"Jose LF e lir| X|SS|LA L
? Debbre | 16|\ |18]18)18]1B| X

“Juee W |rElce | X | CICA X 87
"Gan- | [#[34 |RARIFASE
20 e |96 % |se|GF X | £|sF
13 Ree X |X|C X | e X
" Downis | H-|—| P LAY X| C

15

16

17

18

19

20

20032 s, \lwodgo THD  Fery  Apr3s %}




‘FIELDER
'POSITION
‘NUMBERS

2
< : > “from SS(#6);
6-E3: tLen RBI( by)

“one-base error

by 1B(#3) not
catching throw

-batter #4

ftwo-base hit;
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>trying for home,
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:SS(#6) to C(#2)
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:throwing error
:by 3B(#5),;
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‘two-base error
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:one-base hit;
-then out by
-fielder's choice
.on next batter,
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/ 'P(#1) to 2B(#4),
FC :onprevious
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fly out to
|RF(#9) for
+3rd out
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‘three-base hit,
‘but thrown out
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‘home run,
.self-RBI by
‘batter #15
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‘two-base
:throwing error
by 3B(#5);
-then RBI by
‘batter #17
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...... M one-base error

""""""""""""" @ by 1B(#3) not
! 18 catching throw
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